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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks. .
4. English version is considered to be Authentic.

Seat No.:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Define the following terms: (Any Seven)

(1) Production (2) Stores (3) Ware-house (4) Management
(5) Store keeper  (6) Plant LayOout (7) Organization (8) Market Research
(9) Labour welfare (10) Break-even analysis

Q.2 (a) State the factors affecting the profit of any industry.

OR
(a) Write a brief note on “Indian Factory Acts”.
(b)  What is the role of Sales management department for the growth of any

industry?
OR
(b) What is the role of Purchase management department for the growth of any
industry?
(¢) Draw an Organization Structure of Textile Industry.
OR

(¢c) State the various functions of Sales management department.
(d) Describe the following factors affecting the selection of general location of the
industry: (1) Availability of power & fuel (2) Existence of related industries
OR
(d) Describe the following factors affecting the seiection of general location of the
industry: (1) Availability of raw materials ~ (2) Proximity of markets

Q.3 (a) Write a brief note on “Pollution control acts”.

OR
(a) Differentiate the “Traditional Management” & “Scientific management”.
(b) What is the benefit of “Break-even analysis™?
OR
(b) State the important duties of a supervisor.
(c) State the important objectives of plant lay-out.

OR

(¢) Describe the main principles of plant lay-out.

(d) Describe the important features of Industrial management.
OR

(d) Explain about the theory of costing.
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Q.4

Q.5

(a)

(a)
(b)

(b)
(©)

(@)
(b)
(c)
(d)

What is meant by Material Handling? Give TWO important principles of
Material Handling.
OR
How the cost can be controlled?
State the advantages of Line or Product lay-out.
OR
State the advantages of Functional or Process lay-out.
State the duties of a Sales manager.

State the main objectives of Industrial management.

What do you know about “Depreciation” and “Obsolescence”?
Draw any one flow pattern of Material Handling.

Give a list of various devices used for Material Handling.
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